[ Efficiency vs vertpos |

- 0.5:
L ST P SRR PIRE
e F
2 0.4:— """""""""""""""""""""""
Q E
50.35_— """""""""""""""""""
] E
£ 03F - bbb
025 H - b i T oo
0.28 -+ feie e e e foeeee
0.15 RRRERIEE PR
0.1 %4 TR e
0.05 ++- ------ e
o 1B A TR
*"6' H -+~
©
1_ peey .
095"2 - : ,
10™ 10™ 1 10 0
TP vertr(cr%)

—=— DQM_mkFit_TT_retrain-lowpt

Efficiend —— pQm_mkFit_TTold-lowpt

N 05 -
20.45 :
") .
> 04 :

> H

2 :

§0.35 :

2 .

£ 0.3 :

o :
0.25 :
0.2 :
0.15 :
0.1 :
0.05 :

g+ ;

I :

o .

il ]
0.95 : ; ;
230 =20 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |

~N 0.5
>
A 0.45
S
D 0.4
20.35
)
c 0.3
<]
(&}
2025
0.2
0.15
0.1
0.05]
o+
IS
o4
1_— ---------- 4+ 41+ P SR S T

-

0®5=15C10 -5 0 5 10 15 20

Sim. PV z (cm)




	Contents
	Page 1


